231.

232.

233.

234.

235.

236.

237.

2011 AR (B HidL dal YRasi 2uR U [Raldld adl siy d- g sdau ?

(A) R (A5 o1AR (B) 2UaR-4-518+22 5172

(C) Yeulea (3RAd:) v (D) GuRisd U4 51 1l

% G1oR SYAU 2 UL A1 ALEL 5] Sl A g sSauu ?

(A) 2iaR-4-518v2R o1 (B) yeuiled (32dlen) s
(C) walRs R (D) el 24 AR

Aaadlu [0l ugld-l Gaa :
(A) 55 U3 (S04l AR sAUHL HEE3U AL 8.

(B) $5d UgdR 2i5, A [3Hd AR ugdasll sriui Hee sauql .

(C) RSl ASAAL AR 53] ARSIERA AHE % SAAL €9,

(D) uu (ol HlSdl-L Guulor 53] Aua--d HEE3U AL 8.
daaslu (el ugld :

(A) -uudla (el ugld v 2uaR v 8.

(B) U3dR ugld u2 2ua2 A 9.

(C) -eusla 21 usdR 2An oid [0l ugdl Uz 2ut Avi €.

(D) GuRisd WAL 518 -1l

2[A3-222 Rl i NA-uniddl sur us-l iR ¢ ?

(A) neulSdt dyRiin (B) 515151l 2JRltR
(C) 3l vl deiitR (D) A4AER IRITR

A2unidl sul 2laR 5151 sl QiR -l ?

(A) Wlas) s (B) AA1e- Rl
(C) 22 €ls sHwll-il €2 (D) wdRiTR

2l WAL 5y (A ) el ?

Y

(A) WY, Masani il A dl A5 NUSHL 82181 AW,
(B) 214, [Rasdui a21sl 21 dl A5 UASHE ARl 1,
(C) ALY SAUHT AHIRL ARl A5S UASHI AR A1,

(D) A4, ST 231 AR dl A5 NAUSHT AHIRL A,
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231. The market in which share prices are determined by the demand and supply forces
is called :

(A) Secondary market (B) Over the counter market
(C) Derivatives market (D) None of the above
232. The market that deals in futures and options is called :
(A) Over the counter market (B) Derivatives market
(C) Primary market (D) New issue market
233. The objective of management accountancy is :
(A) Only to assist in preparing financial accounts
(B) Only to assist in costing functions
(C) To assist in preparing financial reports to present to shareholders
(D) To assist managers by presenting the whole accounting data in suitable form
234. Management accountancy
(A) Depends on financial accountancy
(B) Depends on cost accountancy
(C) Depends on both financial & cost accountancy
(D) None of the above
235. From the following, which type ratio is acid test ratio ?
(A) Liquidity ratio (B) Profitability ratio
(C) Leverage ratio (D) Activity ratio
236. From the following, which ratio is not profitability ratio ?
(A) Proprietory ratio (B) Operating ratio
(C) Earning per share (D) Expense ratio
237. Which of the following statements is not correct ?
(A) If current asset increases, it reduces cash flow.
(B) If current asset decreases, it increases cash flow.
(C) If current liability increses, it increases cash flow.

(D) If current liability decreases, it increses cash flow.
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238. DA U4 sul s ualaniddl As3 was € ?

(A) H2ll-<) A2l Guoy (B) 2uasdzi-dl ysasi

(C) [3(ag=3-l ysasl (D) el YA uRd 50U
239.  oi-uR dl el A Hilasidl

(A) 2l Masd 9. (B) g Masd 9.

(C) Al FUAEIR] . (D) aienonou-l guneikl 9.
240.  USlHl puasHl andl x4 med A vl wldollofld aw ¢ ?

(A) Wy AAY, (B) -$l-gsu- g

(C) A5 NS UAS (D) BuRisd U4l 518 1l
241, H{ v e1g2 58l sa1Al Gaa 1A WAL sul el ?

(A) d g1l 4w uR vige vl as.

(B) Hdluia W12 uiiflu caqen as as.

(C) o1l Y wz Alog-Ai-l 21A5H sl 530 s,

(D) d Hg1%ust glRL $AL slm2l5221 Ssim2ls2 2l d 155 531 asi,
242, A3 viswrusa A4 UL A |2 Gualoll € ?

(A) 50U U, W2 (B) wlEl-L 2uuiom Wl

(C) AAIRL-L 20U HIE (D) -Rusla uios- Hie
243. DA Y4 58 usaz-l ugld ) ?

(A) MR U3dR Ugld (B) Meud usdl Ugld

(C) uH1a2ll usd ugld (D) ul5u usd ugld
244, DA U 5y [Qun ugaz [Bauell ugla-dl 8q el ?

(A) U3dR 155l $2dl

(B) A2t [Sud 55 54l

(C) $4ARL 1 ALK [3[A3=s 158l 524

(D) dAasiA [Aela a3dui w13y ag
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238.

239.

240.

241.

242.

243.

244.

Which of the following is a cash flow from investing activities ?

(A) Sale proceeds of machinery (B) Payment of income tax
(C) Payment of dividend (D) Redemption of debentures
Debentures and bonds belong to owner’s

(A) Fixed assets (B) Current assets

(C) Current liabilities (D) Long term liabilities
The earning capacity and potential of firm are reflected by :

(A) Balance sheet (B) Profit & loss account
(C) Cash flow statement (D) None of the above
Which of the following is not objective of preparing capital budget ?
(A) Capital expenditure can be controlled by it.

(B) Arrangement for finance for capital expenditure can be made.
(C) Priority order for all capital projects can be prepared.

(D) By preparing capital budget, the contractor to whom contract is to be given
can be selected.

Cash budget is a useful tool for :

(A) Tax planning (B) Purchase planning

(C) Sales planning (D) Financial planning

Which one of the following is not a costing technique ?

(A) Standard costing (B) Direct costing

(C) Absorption costing (D) Process costing

Which of the following statements is not an objective of cost accounting ?
(A) Ascertainment of cost

(B) Determination of selling price

(C) Determination of tax a shareholder’s dividend

(D) Assisting management in decision making
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245.

246.

247.

248.

249.

250.

BHl AlAd i [ 6{d UL AHLAI SAUHL 209 69 A 58 UdR sdauy ?

(A) el uidr (B) FAldeiils uidr
(C) AlHid u3dr (D) UL Y3dR
225 a9 o2 :

(A) 4183 2215 HIS QURAAL A3 %22l 69,
(B) 2215 A1 Bewe 2428 U3 -8 d Wl el 9.

C A A\

(C) [alare nsi-u 221 8, W2 auRdl 282+ 222l 69,

c.n

(D) d 2AL$1 2l o2l € Bl 2215 U8R Yl WA A d- 9IRS Wl 4gTH
o 89,

e AAs-U g2l DAl [BHa-l e uan A 2 ouotd QA 56 ugldd Yo o ?

(A) 5151 ugld (B) €151 ugld

(C) dlsi ugla (D) st ugld

25 2RAR v+l UGl W2 5% -l AuHdl 2uoll i dl DA WS o g O ?

(A) AcHdl umi se1 gl Gl €.

(B) AcuHdl 2uvil sg14 gell ALl 69,

(C) AHAL 200 vl 8.

D EREMERTETR

A2 WA 56 e vA-AeyH-s) [Qeaugt Hdold € ?

(A) 2isHgls R vl a2l 301 d o 84,

(B) vis5u8ls Aclld w2l dauri-l e ausl.,

(C) Al wAHL Q1L 118 By Aol .

(D) A1 A6l £RUIA dAAMIA d % W,

Ad] t1og2n 24 UH UL 2N 69,

(A) HI2R 6192 (B) R wig2

(C) ulRad~lla ;2 (D) 5L %2
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245.

246.

247.

248.

249.

250.

What is called when variable and fixed cost is included in cost accounts ?
(A) Absorption costing (B) Historical costing

(C) Marginal costing (D) Standard costing

The economic order quantity is :

(A) The order quantity used for buffer stock.

(B) The order quantity used to avoid stock outs.

(C) The order quantity used for special ordering purpose.

(D) The order quantity which minimizes the total of stock ordering and holding
costs.

‘Material with lowest price is issued first’. This sentence is suitable to :
(A) FIFO method (B) HIFO method
(C) LIFO method (D) NIFO method

The margin of safety for a firm in a very volatile market is 5 percent
- Which of the follwing is true ?

(A) The margin of safety is probably too high.

(B) The margin of safety is probably too low.

(C) The margin of safety is adequate.

(D) We can not tell.

One of the following is not an assumption that underlies CVP analysis.
(A) Fixed cost per unit will remain the same throughout the relevent range.
(B) Variable cost per unit will increase as sales increases.

(C) Variable costs have a linear relationship with sales.

(D) Selling price is constant throughout the relevant range.

Over all budget is also known as :

(A) Master budget (B) Fixed budget

(C) Flexible budget (D) Profit budget
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251.

252.

253.

254.

255.

256.

A2 oudd A WA su vAA SO alEd g1 2149 AR s3a [Masd-dl $eiedl 2uasarl
gl saH 64(1) Al A yaor o1ed) sUR- E[Ru d-l Rasanl anfde a9 ?

(A) Yvd Qusil Yat (B) yrd au-l y-il
(C) yray (D) FHE

Al 25u Ao @ral DA UL sl uxvrunl Rud 234 9 ?
(A) Hlas (B) Axulus

(C) wdauls (D) aultis

Al 2su-dl ysael Wl Al 202 4o ?

(A) Ml 2utR

(B) Aell 4l 2541 2081R

(C) MUt v 254 Asll 2a1 WSl % eirla addl oid d
(D) MUt 21 254 Aell 2at Ul % ot ugsl oA d

RURAML UL AWML AL 5 E1MA SN 20AA €9 ?
(A) 1992 (B) 1994
(C) 1995 (D) 2005
A WAL su1 IR YR Shla didi cell as ?
(A) AdR-A%U A0

(B) 2udld-[Rs1 e%u1 28 du

(C) A&l M Fal 5 Y21, 4 2dd da

(D) U1 d=201R

A1 U4 56 nalan Aerud yeualta 52 xuBRUH, 2003 - sa 2(14) 60 Geug
a5 owudl el ?

(A) [uiw 534 (B) 258 29,

(C) 5139, (25 518) (D) sedd
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251. Which of the following will attract clubing provision under saction 64(1) of Income
Tax Act, where the asset is transferred by an individual without an adequate
consideration, to any of the follwing persons ?

(A) Major son (B) Major daughter
(C) Son’s wife (D) Daughter’s husband
252. What is the prescribed period for filing of a service tax return ?
(A) Monthly (B) Quarterly
(C) Half yearly (D) Yearly
253. What is correct base for ‘payment of service tax’.
(A) Receipt basis
(B) Accrual basis
(C) Receipt of accrual - which ever is earlier
(D) Receipt of accrual - which ever is later
254. In which year, the service tax was introduced in India ?
(A) 1992 (B) 1994
(C) 1995 (D) 2005
255. Which of the following movement of goods is chargeable to central sales tax ?
(A) Inter state sale
(B) Sale during export-import
(C) Sales to foreign diplomatic missions, U. N. etc.
(D) Sale to government

256. Which of the following activities is not termed as ‘manufacture’ under section
2(14) of The Gujarat value added Tax Act, 2003.

(A) Producing (B) Storing

(C) Extracting (D) Altering
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257.  uodls dllles sudl-i drauunHdl 2122 a1 W2 agTH UAL S2AL sl ASA ?
(A)3 (B) 2
©7 (D) 50
258.  Su-dl-l el s2a1 weHl 2122 1A Y4l Sid sl slu ¢ ?
(A) s72laR (B) 0212
(C) a2 (D) BuRisd U4l 5185 1l
259, A1l GeAUA (HHIR~3H s valflzian)ui sedl saul glu e ?
(A)S B) 6
7 (D)8
260.  surll-il AUl getgdl 58 Ad Hailzd a8 a3 ?
(A) 2R (B) 334
(C) AR dal A4 i (D) Bulsd UL SIS ]
261.  uaAUASs vataRd M Ad 024 WA s [Reluiqu 2ieid 2inuami 20d € ?
(A) $4l QA 5l (B) 1A [Aaal 5 1l
(C) $Ul QA 5l (D) Gua+u 414
262.  aaulAs uaiare 1A W4 sui-dl wxda sd el ?
(A) 222541 (B) dustdl
(C) Aousil (D) A3 Al
263. 1A WS il uR RS 2[Reet 2 ASVAL VIR AV €9 ?
(A) QUlds Auaxl (B) -wausla 8-
(C) HiHa A4l (D) Gux~u 414
264. A WS 5§ caaAUAL GUEL UATARRIAL ML E ?
(A) Al5ail 244 oSl (B) sl i1 AvHl

(C) Ul 24, AHAAL (D) Ua-[Ruui
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257. Minimum number of members required to apply for incorporation certificate in a
public Ltd. company ?

A3 B)2
©)7 (D) 50

258. The application for registration of a company should be presented to whom ?
(A) Controller (B) Registrar
(C) Governor (D) None of the above

259. Number of clauses in memorandum of association is ?
(A) S B) 6
©)7 (D) 8

260. The liability of the members of the company can be limited by ?
(A) Share (B) Guarantee
(C) Both share & guarantee (D) None of the above

261. The business environment generally referred to decisions related to :
(A) Where to do business (B) Whether to expand business
(C) What business to do (D) All of the above

262. Which of the following, business environment does not consist ?
(A) Speculations (B) Strengths
(C) Weaknesses (D) Government policies

263. Survival and success of a business depend on which of the following ?
(A) Physical resources (B) Financial resources
(C) Human resources (D) All of the above

264. Which of the following is a part of external environment of the business ?
(A) Strengths and weaknesses (B) Opportunities and threats

(C) Resources and capabilities (D) Rules and Regulations
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265.

266.

267.

268.

269.

270.

271.

272.

273.

UAARAS AllaRAL AidlRS uRel s us1-1L Sl ¢ ?
(A) 2[R u (B) (A28
(C) 6iA - A[AUAREH 2 [Ran (D) 51O uaL adl
12l WA 53 Yau valari-dl (oL €9 ?

(A) YRaSL5IR 2 [dd sl (B) 14 uularRl
(OEREEIRIEE (D) Gu-u it

-l Yeu wendl audl uR ueua wigdl gl ?

(A) uiZsilaul ygax (B) Hlra A4 A1
(C) 5321 gl (D) Srsidn 2sidio

UAAUA AHIY L AR 5l WRewwtiA g s ?

(A) 451 (ld) valat (B) ML= YALA1L

(C) g2 uulal (D) GuR-iL 14

2 WA 53 uidz-u Gewlol [Asdue Hisad ulRewn 44l ?

(A) A1 W sl (B) ad¥un su-dlzil az’l 2usl
(C) -l uAASLY AR (D) 1A AUH

2 WA 53 uda a1y ol ?

(A) us13 Al (B) Bewlet dslad

(C) [Aazsl (D) ¥ ¥3Rua

=

] A HRAAdD AL dAL 2124 vl 22 Bl HAELS 2. 54.208. 2012 Hi ..........
Siu.

(A) $ 1,035 5 dell 24 (B) $ 2,025 5 gl 2iiedl

(C) $ 1,200 5 asll 24 (D) $ 3,205 5 sl 24ied)

URAHL AN .......... Al AeiBis Alla w8 Gerdls@ erma sAHT 20y 8d.
(A) 1947 (B) 1950

(C) 1991 (D) 2001

ANSR W2 i 215 6lLold A1l YA Y 58 €9 ?

(A) e sila Al (B) -wensla -lld

(C) [agell isva Alla (D) [Azell [Alrma Alla
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265.

266.

267.

268.

269.

270.

271.

272.

273.

The internal factors of business environment are :

(A) Uncontrollable (B) Controllable

(C) Both A and B (D) None of the above

Which of the following is a part of micro environment ?

(A) Suppliers and Distributors (B) Task environment

(C) Operating environment (D) All of the above

The value system of the organization does not influence :

(A) Portfolio Strategy (B) Human Resource Management
(C) Marketing Strategy (D) Information Technology
Factors which affect business in general are known as :

(A) Macro environment (B) General environment

(C) Remote environment (D) All of the above

Which of the following is not a factor in Porter’s model for industry analysis ?
(A) Rivalry with government (B) Rivalry among existing firms
(C) Threat of new entrants (D) Threat of substitutes

Which of the following is not an entry barrier ?

(A) Government policy (B) Product differentiation

(C) Distributors (D) Capital requirements

Low Income Economies are the countries with per capita G.N.L. ................. in 2012.
(A) $ 1,035 or less (B) $ 2,025 or less

(C) $ 1,200 or less (D) $ 3,205 or less

In India, liberalisation was introduced with the Industrial policy in the year :
(A) 1947 (B) 1950

(C) 1991 (D) 2001

Government’s strategy in respect of public expenditure and revenue is known as :
(A) Fiscal policy (B) Monetary policy

(C) Foreign Investment policy (D) Foreign exchange policy
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274.

275.

276.

2717.

278.

279.

280.

A2 WA 53 ulRe1n Fua-dl st 100 2R 53 6 7
(A) 2nuld eai-u 2ed=-l 9lg €2

(B) [ caruiz-l als €2

(C) 20 B2 MU 2ARUL SRS+ €2

(D) GuR-L b1t

R Y

A sl sRure AssA Sidl ASY 217 d-l WA yRudl glal A3 Fall §

(A) AR-UHIAL YRual (B) bl 22242

(C) [ (D) $12L 2ANUA

AL8[015 Hlld 621a - 1956 AU BeA dLls wiA ... HI3A A5 AladIHl 2l Sdl.
(A) uam vyalia dio- B) [l daaliy aio-n

(C) gl yualia aios-u (D) Agel daafia alo-

19911 dl 2Aeils Ald a0 ......... (R eran GeldtiA uRariiddl Hsd sumi
2l el

(A) 17 (B) 18

©) 19 (D) 20

®IRAML 1991+ 2[5 Yl udal (irdly Su-dlzlg .......... S0 [Ruuq agd 8d.

(A) 5121 isuA-y YAUA vi52, 1973
(B) $u-l ¥is2, 1956

(C) A4 U5 3A 152, 1930

(D) GuRHidl 518 1l

AsH oil5oq cualds Gergw 54 ¢ ?

(A) 21u[R5 o501 (B) [B1dla oil+501
(C) -l il=59 (D) 3+ 6il=531

et Gif=501, Sivs BEls 53 €9 ?

(A) 20 [R5 6il=591 (B) 1Al 6ilF59
(C) cuRdl il+59 (D) R 6il~5
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274.

275.

276.

2717.

278.

279.

280.

India’s expert performance is affected by which of the following factors ?
(A) Rate of growth of economies of importing countries.

(B) Rate of growth of world trade.

(C) Rate of change in price level in importing country.

(D) All of the above

A consumer should have a specific complaint and proof such as :

(A) Address proof (B) Bank statement

(C) Bill (D) Photo 1. D. proof

The Industrial Policy Resolution of 1956 was brought out as national goal and
.............. model

(A) First five year plan (B) Second five year plan

(C) Third five year plan (D) Fourth five year plan

With the New Industrial policy of 1991, all except ................ industries were freed
from licensing.

(A) 17 (B) 18

)19 (D) 20

Prior to the economic reforms of 1991 in India, Indian companies were regulated
under :

(A) Foreign Exchange Regulation Act, 1973

(B) Company Act, 1956

(C) Sale of Goods Act, 1930

(D) None of the above

A typical example of unit banking is :

(A) American Banking (B) British Banking
(C) Japanese Banking (D) French Banking
The best example of branch banking is :

(A) American Banking (B) British Banking
(C) Indian Banking (D) Chinese Banking
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281.  GlRdHi -ww HliHlL He®l .......... HiuRL HuL 9,
(A) A (B) H4(d
(C) Aadds (D) HSIHIRA
282. -4 WA sy [Asiu cisu M-l ¢t -l ?
(A) 2Aeils [as s

(B) 5[ [Asiu oy
(C) 2nd-[sin oy
(D) A 6ls

283. 2. s Adlaud. Al ua es Ayl ... w69,
(A) 2u8.4L.oll.2us. (B) 2Ax.ofl. 208,
(C) 2ud.Al.2us.dl.2usd. (D) -ueus

284. 58 didlviell R ols s SRwA Wil s1molldl a3 5312
(A) 1 2[4, 1940 (B) 1 »iM4, 1935
(C) 1 2iMa, 1947 (D) 1 ¢M&, 1950

285.  ~{lA WS sy 2uR.00l 2. sl el ?
A) s0 B (B) A&l B
(C) s34 AUs[Asw (D) aasll A2l erudl
286.  2uS. 5.0l 21 Y. Alaug. 56 elsdl vzl sudlal © ?

(A) 2u.$Lofl.2ud. (B) 2uR.0. 208,

(C) 2ud.fl.2ug . Afl.2us. (D) 2u8.2uR.6ll.2u8.
287. Rl dueA .......... ERETOR

(A) HlRAl u¥e (B) W=l (b1

(C) s12ll W8l (D) ¥R
288.  ¥ls % AUAAISTA ... 58 8.

(A) 13l g, (B) WSl uys

(C) 1ru (D) Ai53L
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281.

282.

283.

284.

285.

286.

287.

288.

In India, references of money lending are found in .........c........ also.
(A) Arth Shashtra (B) Manu Smriti
(C) Atharv Ved (D) Mahabharat

Which of the following is not a part of structure of development banks ?
(A) Industrial Development Bank

(B) Agricultural Development Banks

(C) Export-Import Development Bank

(D) Asian Development Bank

Fifty percent of share capital of IFCI is held by :

(A) IDBI (B) SBI

(C) ICICI (D) NABARD

From which date the Reserve Bank of India commenced operations ?
(A) April 1, 1940 (B) April 1, 1935

(C) April 1, 1947 (D) April 1, 1950

Which of the following is not a function of RBI ?

(A) Agriculture finance (B) Industrial finance

(C) Tax collection (D) Issuing currency notes
IFCI and UTI are the subsidiaries of which bank ?

(A) IDBI (B) RBI

(C) ICICI (D) IRBI

A collection of data is called :

(A) Data set (B) Data point

(C) Raw data (D) Array

A single observation is called :

(A) Data point (B) Data set

(C) Sample (D) Statistic
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289.  uas, old, [Qem adi -l Gersau ¢ ?

(A) Ais3L (B) 44
(C) % (D) @i
290. ... 2L AHAAL Ui 5 1L 8D,
(A) ¥l (B) axdl
(C) Wl (D) %A
291, ausaell i1 [Qdug udarll wlRdlm .......... 58 69,
(A) 2ell (B) »ilan wledl
(C) 10l Huledl (D) [A=duw
292,  dcuati Rigid www, .......... 2 215 5 dell ay asu ulReuwl ©,
(A) nuidL (B) ulReuw
(C) &2~ (D) ds
293.  “eUMA .......... $8 69, AR wAHIYL 2is A HISL 2SO B2l 2 % AHA v,
(A) YRR 2[R (B) 2ulB1q
(C) A (D) w0l
294, .......... Higdl uade s3¢ RuRA aQrlac W AisuAlAL AL A8l Bualol 53 8,
(A) @l (B) Acuarl
(C) -l dal (D) 2531

295, sULUSIRAL AR Al ugldui ol argaiial Ayl aHaadl ds wi e ?
(A) [Br-2cuaru (B) d®™a-il
(C) birt (D) Guanidl 51 18l

296. 1A WA sy yusis el ?
(A) [Bua yasis (B) %2l YAsis

(C) Y& Yasis (D) ANR YASiS
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289.

290.

291.

292.

293.

294.

295.

296.

Income, race, education etc. are examples of :

(A) Statistic (B) Variables
(C) Group (D) Class
............... is a fraction or segment of the whole.

(A) Sample (B) Population
(C) Data (D) Group

Information before it is arranged and analyzed is called :

(A) Category (B) Final data

(C) Raw data (D) Analysis

In probability theory .......ccceeeeeeee. is one or more of the possible outcomes.

(A) An experiment (B) A result

(C) An event (D) A chance

Events are said to be ............... if one and only one of them can take place at a time.
(A) Mutually exclusive (B) Dependent

(C) Independent (D) Interdependend

Statisticians use the word ‘sample’ to describe a portion chosen from :
(A) Population (B) Probability
(C) Sampling (D) Statistics

In what type of sampling, all the items in the population have a chance of being
chosen in the sample ?

(A) Non-probability sampling (B) Probability sampling
(C) Both A and B (D) None of the above
Which of the following is not a type of indices ?

(A) Price index (B) Quantity index

(C) Value index (D) Market index
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297.  [Rudiely i ugdeiy [Asduw ol 34l a2l .......... 154] S HEE3U oin 69,
(A) usla (B) Wbl
(C) ngla 2+ HopvLeS (D) Guanidl 5 ]
298. A YA 5y Auidl s 51 el ?
(A) B eisin (B) aagll diel 61812 wsdl
(C) ¢sin M) (D) A5 wRudl-l Guaio

299,  AHLIUINA GLSL SUL USIRAL VILAHL R BHL A 69 ?

(A) A4, vug, (B) 1Ad Wi
(C) el Yead vug (D) Gu-iL 1t
300.  dwdl eist vilargisedl Yl .......... Hi 20U 8.
(A) g vug, (B) t1Ad v
(C) it Yed el vug (D) 8L USIRL VALl

ARV -A] 78 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


297.

298.

299.

300.

Regression and correlation analyses helps to determine ................ of a relationship
between two variables.

(A) Nature (B) Strength

(C) Both A and B (D) None of the above
Which of the following is not a function of commercial banks ?
(A) Lending of funds (B) Issuing currency notes
(C) Remittance of funds (D) Use of cheque system
In which type of account, banks generally accept deposits ?

(A) Current account (B) Savings account

(C) Fixed deposit account (D) All of the above
Commercial banks grants overdraft facility in :

(A) Current account (B) Saving account

(C) Fixed deposit account (D) All types of accounts
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